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&5 X 4 .Z,na; 'Finﬁfa(z)@ﬂﬁ%ﬁ jj(gilch)é X 4 'Fmﬁzégg;ki .z.né; jj(gilgcn%é X 4 .z.na)r J:Jﬁﬁ?b(z)@ttlsl %ﬁé X 4 J:Jﬁﬁ?f)(z)@ttla 'Z]n? b(ﬁa/tf)é
’ 100kN/mM%Z#B % % -l -~ = -|3mZEBRB| - ~ = - —| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st 1.00{0.00 ~ 7.01 88.86| =t List 000 ~ 7.01| 1.93 9.76 ZnLst 1.00f 5.00 ~ 10.01 88.86] = List | 500 ~ 10.01| 1.93 9.76
9 100kN/mM#%#BZ % 1.00({0.00 ~ 0.12 101.79|3m%E#E 25 = ~ - = —| 100kN/mM%#B 2% 1.00 12.65 ~ 13.16 101.79|3m%EE 25 =l ~ - - -
Zzh st 1.00{0.12 ~ 791 100.00| 1 A4t |0.00 ~ 791 1.93 9.77 ZnLst 1.00f 500 ~ 12.65 100.00] #hkist | 5.00 ~ 13.16] 1.93 9.77
3 100kN/mM#%#BZ % 1.00(0.00 ~ 0.31 104.53|3m%EB 25 = ~ - = —| 100kN/mM%#8 2% 1.00( 12.65 ~ 14.00 104.53|3m%EEZ 5 =l ~ - - -
Zzh st 1.00{ 031 ~ 8.09 100.00| Z#hist |0.00 ~ 8.09] 1.93 9.77 ZznLst 1.00f 500 ~ 12.65 100.00] #hkist | 5.00 ~ 14.00] 1.93 9.77
4 100kN/mM#%#BZ % 1.00({0.00 ~ 0.83 112.37|3m%EB 25 = ~ - = —| 100kN/mM%#8 2% 1.00 12.66 ~ 16.97 112.37|3m%EEZ 5 =l ~ - - -
Zzh st 1.00{ 083 ~ 8.61 100.00| #hkist | 000 ~ 861 2.10 10.61 ZnLst 1.00f 500 ~ 12.66 100.00] #hkist | 5.00 ~ 16.97| 2.10 10.61
5 100kN/mM#%#BZ % 1.00({0.00 ~ 0.85 112.70|3m%E#B 2% = ~ - = —| 100kN/mM%#8 2% 1.00( 11.23 ~ 14.36 112.70| 3m%E 25 =l ~ - - -
Zzh st 1.00{085 ~ 8.63 100.00| Z#hist |0.00 ~ 8.63] 2.02 10.23 ZznLst 1.00f 500 ~ 11.23 100.00] #hiist | 5.00 ~ 14.36] 2.02 10.23
6 100kN/mM#%#BZ % 1.00({0.00 ~ 1.25 118.98|3m%E#B 25 = ~ - = —| 100kN/mM%#8 2% 1.00( 11.52 ~ 17.15 118.98|3m%EEZ 5 =l ~ - - -
Zzh st 1.00[{1.25 ~ 9.04 100.00| Zhlist |0.00 ~ 9.04] 2.17 10.96 ZznLst 1.00f 500 ~ 1152 100.00] #hist | 5.00 ~ 17.15] 2.17 10.96
7 100kN/mM#%#BZ % 1.00(0.00 ~ 1.36 120.56|3m%E{B x5 = ~ - = —| 100kN/mM%#B 2% 1.00( 12.09 ~ 19.60 120.56|3m%EEZ 5 =l ~ - - -
Zzh st 1.00[{1.36 ~ 9.14 100.00| Z#h A4t |0.00 ~ 9.14] 2.13 10.76 ZznLst 1.00f 500 ~ 12.09 100.00] #hkist | 5.00 ~ 19.60 2.13 10.76
100kN/mMZ#B % % ~ ImEHBRD ~ 100kN/mM%Z#BZ % ~ ImEEZD ~
Zzh st ~ zh st ~ Zh st ~ zh st ~
100kN/M%Z#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
zh st ~ Zzh st ~ Zh st ~ zh st ~
100kN/mM%#8 % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zzh st ~ Zzh st ~ Zzh st ~ zh st ~
100kN/MZ#B % % ~ ImEHBRD ~ 100kN/m%Z#B % % ~ ImEEZD ~
zh st ~ Zzh st ~ Zzh st ~ zh st ~
100kN/mM%#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zzh st ~ zh st ~ Zh st ~ zh st ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m%#8Z% ~ ImEFEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZhLs ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m%#82% ~ ImEFEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZhLs ~
100kN/m#E#BZ % ~ 3ImEFEZD ~ 100kN/m%#8Z 5% ~ ImEFEZD ~
ZThESH ~ ZThLst ~ ZhLS ~ ZThESE ~
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